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2. 97259 3,000 3,000 0
L[z Ras 1,000 1,000 0
1. G981 850 850 0
2. BAAL G 45N 150 150 0
2. [Z]IFETFASY 2,000 2,000 0
1. g RkE8H 1,500 1,500 0
2. 2959 300 300 0
3. EAAL G A5 200 200 0
7.8 AF-LE 39 5,572 -5,533
198k 39 35 4
198k 39 35 4
1 [xwss 39 35 4
1aas 39 3% zgﬁ'ﬂjl%ii% Aol B - 4,000 4,000
A%EH 20243 129 169 114 38% 12% 13 ABEYAANCWEH FFrSsin



20248HA %= M=o AFHE AN

2. o] n) 0 5,537|  -5,537
1. cjnyn] 0 5,537|  -5,537
[Z]dn)m) 0 5,537|  -5,537

1. H]H] 0 5,537 -5,537 | ZFstalvlH] : -5,537,0009*14]= -5,537,000
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